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SECTION – A 

[k.M & v 

      iz”u Ø- 1      bl iz”u esa 15 vfry?kqÙkjh; mi iz”u gS] izR;sd iz”u dk mÙkj vf/kdre 20 “kCnks esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd 

i”u 03 ¼rhu½ vadks dk gSA 

           Question no.1  This question contains 15 very short type subquestions. Answer each question in maximum 20 words. all 

question are compulsory. each question carries 03 (Three marks) 

 

 

 

iz”u ¼1-1½ VªhEl 

         TRIMS 
mRrj  

 

 

 

iz”u ¼1-2½ foeqnzhdj.k 

         Demonetization 
mRrj  

 

 

 

iz”u ¼1-3½ vuqca/k df̀’k 

         Contract Forming   
mRrj   

 

 

 

iz”u ¼1-4½ xzkeh.k {ks= esa izolu leL;k 

         Migration problem in rural area   
mRRkj   

 

 

 

iz”u ¼1-5½  

         PQLI 
mRRkj  
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      iz”u Ø- 1      bl iz”u esa 15 vfry?kqÙkjh; mi iz”u gS] izR;sd iz”u dk mÙkj vf/kdre 20 “kCnks esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd 

i”u 03 ¼rhu½ vadks dk gSA 

           Question no.1  This question contains 15 very short type subquestions. Answer each question in maximum 20 words. all 

question are compulsory. each question carries 03 (Three marks) 

 

 

 

iz”u ¼1-6½ pØh; vFkZO;oLFkk 

         Cyclic economy 
mRrj  

 

 

 

iz”u ¼1-7½ vk/kkjHkwr volajpuk 

         Basic infrastructure 
mRrj  

 

 

 

iz”u ¼1-8½ vkRefuHkZj vFkZO;oLFkk 

         Self reliance economy 
mRrj   

 

 

 

iz”u ¼1-9½ [k|ku lqj{kk 

         Food security 
mRRkj   

 

 

 

iz”u ¼1-10½ Hkq[kejh  

          Starvation 
mRRkj  
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      iz”u Ø- 1      bl iz”u esa 15 vfry?kqÙkjh; mi iz”u gS] izR;sd iz”u dk mÙkj vf/kdre 20 “kCnks esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd 

i”u 03 ¼rhu½ vadks dk gSA 

           Question no.1  This question contains 15 very short type subquestions. Answer each question in maximum 20 words. all 

question are compulsory. each question carries 03 (Three marks) 

 

 

 

iz”u ¼1-11½ xzkeh.k “kk[k 

          Rural Credit 
mRrj  

 

 

 

iz”u ¼1-12½ fjtoZ euh 

          Reserve money 
mRrj  

 

 

 

iz”u ¼1-13½ vkfFkZd of̀) ds ladsr 

           Indicator of economic growth  
mRrj   

 

 

 

iz”u ¼1-14½ eqnzk cktkj 

          Money market 
mRRkj   

 

 

 

iz”u ¼1-15½ izR;{k lfClMh  

          Direct subsidy 
mRRkj  
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

 

iz”u ¼2-1½ e/;izns”k esa vkS|ksfxdj.k dks c<kok nsus ds fy, fd, x, iz;klks dk o.kZu dhft, 

         Explain effort of mp to improve indstrialization  
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-2½ f”k{kk ds {ks= esa oS”ohdj.k dk izHkko  

         Impact of globalization in education. 

mRRkj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-3½ Hkkjr esa vkfFkZd mnkjhdj.k ds izHkko dk ewaY;kdu dhft,A 

         Evaluate impact of liberalization in india 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-4½ vkfFkZd fodkl es rduhdh dh Hkwfedk  

         Role of technology in economic development . 

mRrj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-5½ vkRefuHkZj Hkkjr vfHk;ku D;k gS] blds 5 LraHk dkSu dkSu ls gSA 

         Write aatm nirbhar bharat abhiyan and its 5 piller. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-6½ eujsxk dh df̀’k fodkl esa Hkwfedk   

         Role of MANREGA in agriculture development  

mRRkj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

 

iz”u ¼2-7½ Hkkjr esa dksjksuk dk vkfFkZd izHkko 

         Economic impact of Corona in india 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-8½ dksjksuk ladV ds chp Hkkjrh; vFkZO;oLFkk dh pqukSfr;k¡  

         Challenges of Indian economy in corona crisis 

mRRkj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

 

iz”u ¼2-9½ Hkkjr esa orZeku esa csjkstxkjh leL;k vkSj blds dkj.k  

         Present unemployment problem in india and its causes. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-10½ df̀’k fodkl esa {ks=h; xzkeh.k cSad dh Hkwfedk  

          Role of regional rural bank in agriculture development 

mRrj 
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[k.M & v 

      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

 

 

 

iz”u ¼3-1½ lekos”kh fodkl D;k gS \ Hkkjr es lekos”kh fodkl us xjhch dks de djus esa D;k lgk;rk 

dh gS \ 

          What is inclusive development? how has it helped in reducing poverty in india ? 
mRrj  
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

          iz”u % ¼3-1½ Continued ¼tkjh½ 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

            iz”u % ¼3-1½ Continued ¼tkjh½ 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

iz”u ¼3-2½ orZeku lanHkZ esa eujsxk dh izklafxdrk  

         Relevance of MANREGA in contemporary context. 
mRrj  
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

            iz”u % ¼3-2½ Continued ¼tkjh½ 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

            iz”u % ¼3-2½ Continued ¼tkjh½ 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

iz”u ¼3-3½ Hkkjrh; vFkZO;oLFkk dh pqukSfr;ks dk ewY;kadu dhft,A 

         Evaluate challenges of Indian economy. 
mRrj  
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vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 
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vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 
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